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Enter the number x: 2
HongSQRT (x) is 1.41421
Enter the number x: 3
HongSQRT (x) is 1.73205
Enter the number x: 4
HongSQRT (x) is 2

Enter the number x: 5
HongSQRT (x) is 2.23607
Enter the number x: 6
HongSQRT (x) is 2.44949
Enter the number x: 7
HongSQRT (x) is 2.64575
Enter the number x: 8
HongSQRT (x) is 2.82843
Enter the number x: 9
HongSQRT (x) is 3

Enter the number x: 10
HongSQRT (x) is 3.16228



Enter the number x: 100
HongSQRT (x) is 10

Enter the number x: 16
HongSQRT (x) is 4

Enter the number x: 15
HongSQRT (x) is 3.87298
Enter the number x: 25
HongSQRT (x) is 5

Enter the number x: 144
HongSQRT (x) is 12

Enter the number x: 1024
HongSQRT (x) is 32

Enter the number x: 768
HongSQRT (x) is 27.7128
Enter the number x: 769
HongSQRT (x) is 27.7309

Enter the number x: 2817412839
HongSQRT (x) is 53079.3
Enter the number x: 152399025
HongSQRT (x) is 12345



